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Dell PowerEdge R740
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« Intel Xeon Gold6230 2.1G, 20C/40T *2ea
» 768GB Memory
e 240GB SSD * 2ea(Raid 1)
e 1GB Ethernet 4Port
Jhabst . 10; SFP+ 4port _
A « Raid Adaptor 2GB Cache O|4 A& 44
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Dell PowerEdge T640
« 5U =0[2| 02 E MH
« Intel Xeon Silver4208 2.1G, 8C/16T
» 64GB Memory
e 240GB SSD * 2ea
« 8TB SATA * 16ea
5 + 1GB Ethernet 4Port "
MH « 10G SFP+ 2port B
« Raid Adaptor 2GB Cache O|& H|&
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IDRACY Enterprise A&
Windows Server OS AX| & 20|MA XS
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Extreme Networks X590

1U Ethernet Switch

10GbE SFP+ x 24 E

10Gb/40Gb QSFP+ port x 12E
10Gb/25Gb/40Gb/50Gb/100Gb capable QSFP28 ports x 22 E
880Gbps O|4+9| Switching Fabric % XS

272,0007 O|&9| MAC F& +8& 7|5 H&

4GB DDR3 ECC Memory/32GB SSD Memory

Layer 2 ZE2EZ : 802.1g, 802.1w, 802.1s, 802.3ad LACP XS
IEEE 802.1BR CB +d X|¥

2t &l . Staticc, OSPFv2, BGP and VRRP

Multicast : IGMP Snooping v1,2,3, PIM-SM, PIM-SSM X| &l

IP Mobility?t ¥&3st0 AtE VLIAN Y I 29 Policy XH&
o X

Fabric Attach 7| X|&

STP(Spanning Tree Protocol)2t 2tAH 10| Multi-ChassisOf| A
Ether channel X|&

ote| ME20| o|F2t M&
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PIOLINK PAS-K3200

1U FormFactor

10 GbE fiber (SFP+) * 2port

1 GbE fiber (SFP) * 8port

1 GbE copper * 12port A&

16GB Memory (RAM)

120GB SSD M=

Backplane 140Gbps

Throughput 6Gbps

Concurrent Sessions 16,000,000

L4 CPS (max) 520,000

Load Balancing(SLB, FWLB, VPNLB, GSLB) 7|s H|&
STP, RSTP, MSTP 7|5 H&
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Dell Unity XT 480F
« Dual Controller O|&t(Controller Actice-Active 2 2{AH)
- 128GB Cache MS(1ds5= #I¢ SSD 7h+ A )
o Tt HEZEZO|M NAS, iSCSI, FC SA|X| &
« 6TB 7.2K 12G NL-SAS * 52ea N&
« 12TB CHE2 NL SAS 7.2K HDD X| &
« 10GBE * 4port(ZICH 24port &% 7ts5) M=
NAS + 25Gbps Ethernet Z[C{ 16port ZH& X| &
acax | ClA3 Z[Cf 50070 Ol X|¥ 7ts 14]
« RAID 1/0, 5, 6 X[
- EFE LUNQ| =T 37]7} 256TB O|&= A&
- g5 FF 2= ROW (Redirect On Write) A9 M7| JHsoh
Snapshot X[ &
« HTML5 Z|Hto] Zt2|& M| B (IE, FireFox, Chrome, Safari X|&)
o Y A|AH On-line &% A =4 7|5 H&
« LUN 22| |OPS, Bandwidth SA| QoS 7|5 A&
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Veeam Backup & Replication Standard
- 7hdet WY &R
« 8CPU License, Public Sector 3 year of Production 24/7 Support
is included.
« VMware, Hyper-V, Nutanix #¢ 7t&5
« F7h 2to|MA FOHE S8l MS Windows Server X 4-& Linux
Tow | B2 Ae uy xg 4
T |« MH9| Local Disk0l Backup Data XZE X|
- 8= 8 A 7l MS
. O|O|X] Z[8te] VM=H 7|5 HS
« Backup &2 O[OIX|2 vm FA| A% 7|5 HS
« Backup Solution HX|& 0OS X&
« 30 AHZA E= BT J|=X|H =AM HE
« Academic VMware vSphere 7 Standard for 1 processor 24
Jhabs) Q| Academic Basic Support/Subscription VMware vSphere 7 24)

22 S/w

Standard for 1 processor for 3 year
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